i
A

TR AT M RORPLG: —EHIeE RIRA P
o WL 520 SEEMOIMNA RAL. _HiRR et

s HEERARS GIRBAR. e AR, BAEED

1o AR Z 5O A8 I 8 AT 15

2. BEREFRPIAE L LFZP A

3. A KRB KB4, O S ST TR AR A

T HEFEAS R
Hpls FEAGINETA XN FZEH A
A SEZE RO A3 I 2 L
=L Ui (B AL A ED
b B
%4 HH M ES

M. #ikE¥E

WAl WP REMENHBARTFTF R E.

121 N 7 L N 2% I 57 NS €N
B, RArES

FERAT B L5 SRS I ESR, A ST RAER . ppt BRIF . B e e, SERiRE B
Eotzi el I

N HEARESSR GRH)

(—) . WEE>

EAMIE L ?
()« BAHR

AN 2] S B I A SN . S22 A 3.

(=)« PR
B PRATH 522, AR A R
(1) FZEHHNETA 2
(2) FZEPIUEXL? FRFIAX?
(3) PRATH F 220 R B 3 7 WRLE ) ?
MRIEURAT R E 23], — & BT R

3. fessgy){a, i, B 3 R S, 458 UE 20, SRE M 25
fitk: Y a3=5,a8-=20, 4@ I A K15
a;+(3-1)d=5
a;+(8-1)d=20
fi#15 al=-1, d=3
FITLL ays=-1+(25-1)*3=71
(6] 4 B T b — 2% 33em, SHIC 2195 89em, AT 7 SE, U0 R SR,
) 4 20 1 5
i a, | IR T 1 T _E % TR RTINS R, DA, AN

3.1:33, 312:1107 n=12



i
A

AL AR MeE o BARYIgL ZSEHISM RIRA R
o WL 520 SEEMOIMNA RAL. _HiRR et

soa, =a+(12-Dd Hisf 10=33+114
Rz 15 d=17

Kk, a,=33+7=40,a,=40+7=47,a, =54,a, = 61,0, = 68,a, =15,a, = 82,

2 BAT I A & H TE M BB AR IRSE 40cm, 47cm, S54cm, 6lcm, 68cm, 75cm, 82cm
15 CE—NEMAAERRKE 24, =20 KEREZES, KREMA AT ZFILHKE.

fift: VXA EA =M R =30K 500
a—d, a, a+d (d>0)

WA e, 5(8—d) +8 =(8+d)>.
18 d=2.
TRXNEA MM =10KE 6, 8, 10.
P

Wk sl 6, 8, 10, mok 8= ot 10

2

FATHE 8 Ry 6 F1 10 Fy 5 22 .
MRE a5 h PN —DMA, flia, A, bHEZEHIEL], o AR EH 4K
HIE X153 A-a=b -A

a+b

2

Ry, wq=9F0

Bl: 4=

’ )I_I\IJ A'a:b'A

mﬂﬂﬂ%:A=?¥Q3%&&%§ﬁﬂ,%a,A,b&%%ﬁﬂ,%ZAMMGEb%%ﬁ
HIR.

AR, E—ANFEZHFH, NB20E, §—W (FHEFIRRBRS) HRERH—
B5 B —THIEEH .

MELRS]: 990 gk 1-3, SGibseA g O, RREAT R Brik.
QDRI &Y+
A EENEN:
X AT AR R A RE S SR A R EAEE I I ARSI A ET n 5
R L A B I A
OFEZHBE Lo

E[] an - an—l = d (HZZ)




:, : FAREE: OGO BEA B
(S W s20sEEsGRE X BER MR 1

SEZE R I A N

(73) « MmEF
WEAH# TR & ERORE NS, SRR & E e
99 T1%:>] 4-6



